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(9 #) May I help you?

(% #) Yes, I'd like to look at that red sweater. How much is it?



http://oddest.nc.hcc.edu.tw/wusu29.htm
http://oddest.nc.hcc.edu.tw/wusu29.htm

(9 %) It’s one thousand dollars.
Question: Where are the man and the woman?
(A) In arestaurant.
(B) In the living room.
(C) In a department store.
*1(C)
(C)HEB  RBpHEI DD > PREHERN RPN T TR UR
F oo HERIEI - o

AL b
FHITP F (2 F g NI AL )
Why don’t we have a(n) for our singing group? I think it looks great

when everybody in a group wears the same thing.
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¥ % ' Linda came up with a good solution to the problem.
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